U3-1

Exinuwi perri gep6ec TybIHABLIBI U] (epeHIUsIIBIK TeHaeyJaepai Kiaccupukanusjiay

1 TenneyaiH TUIIH aHBIKTA!
1.1 2 _
Uy + XUy = 0

1.2 Uy +4uy +u +ux+uy+2u—x2y=0

vy

13 YUy + 2Xy Uy + XUy, =0

14 Uy —3Uy —4uy, +Uy +5u, =0

L5 x%u, —y®uy, +sinxu, =0, x#0,y=0
16 4u, +4u,y +uy —2u, =0

L7 y?u, —xu,, =0, x=0,y =0

1.8 2uy +2uy, +Uy +2u, +2u, —Uu=0
1.9 qu)o(+y2uyy:O, X=0,y=0

1.10 uy, +2uy, +U +ux+uy+3u—xy2=0

Yy

111 XUy —Y?uy, =0, x=0,y#0

112 Uxx —6Uy +10u,y +u, —3u, =0
1.13 (1+x2 Wy +(1+ y? Uy, +yu, =0

114 y2u, +2yuy +uy, =0

2. TenaeyniH SJUTMICTIK, TUIIEPOOTANIBIK, MapadoianblK OOJBICHIH AHBIKTA!

2.1 e™uy +2e"Vu,, +e?Yuy, =0

Xy
2.2 yu, +u, +3u,—5u, =0

2.3 Uy — YUy, +2u, —Uy, +Uu=0

2.4(1— X* Uy — 2Xy Uy, —(1+y* Uy, —u=0

2.5 sin®y-u, —e™-uy, +3u,—5u=0
2 2

2.6 XUy +Yy“u,, =0

2.7. Uyy — XUyy +6Uy +Uy =0

2.8 YUy, + XUy, =U

vy

2.9. XUyy — YUyy —Uy —3uy, =0



2.10. sin? XUy —2Y-SIN X-Uyy + y2 ‘Uyy =0
211y*u, —2xyu_+Xxu —9u =0
212 xu_+xsin*x-u_ +4(u, +2u)=0
2.13e”u, —4e™'u +4e”u —9u =0

1
214 —y —4xyu_+2xu —9u =0

X
3. Tenneyi KAHOHJBIK TYpre KeaTip

31 u, +2u —u +u +u =0

32 u —-2u —3u +2u +6u =0
33 u,—6u +5u +2u =0

34 4u_+8u,—-3u +u —u =0
35 u,—-2u, -8u, +u —u =0
36u, +6u +8u —2u +u =0
37 U, —2u —3u +u —4u =0
38 3U,—2u —u +5(u —u)=0
392u, —6u +4u +u —3u =0
3104u —6uU +2u +2u —u =0
suuu —4u +3u +3u +u =0
312 y_+10u_ +9u +2(u +u)=0
313u, +2u, -3u,—4u —u =0

d%u 5%y 3%u du du __
314 02~ Odapy T 857 T8, =25, =0




